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Physics gl | 1-2023-2024
( Question | 1 | 10marks | !0 1 Sl
A car accelerates from rest at 5 m/s* MSmls’dhﬂaﬁ-‘dﬂU#tJ:ﬂ
for 5 seconds. It moves with a constant | 0! 10 bsd 4k de juy S a5 & 0155
velocity for 10 s, and then slows down | s ) 2585 a5 m/s” Joney Ui 8
at 5 m/s’ to come to rest again. The sl 8
entire journey takes 20 seconds. Al 20 \hash Ua Y1 5 a0
Plot the velocity-time graph of the Ca iigaial e pull (il il )
motion considering the following: gt L Blel e g *5.)-1’
1. Write the graph title. gl e gl ) gl :#5‘ B |
2. Label both the horizontal and Y (gl Oa S ‘.‘i“"“f 2
vertical axis. 3 R My
3. Draw the best-fit straight line or inia ol diddan JuadY) Jad pe 3
curve of the motion. A8 )
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Question 3 Gmarks | cide6 | 3 | g
An object has an initial velocity (vi) and | .(a) <y £)luds (vi ) 2310531 & pw &) euncr

constant acceleration (a), If the Gspu O ¢ AX puudl d-] SSE'15)
object’s displacement is Ax , then its Wolaally Jani( vy ) dslgd)
final velocity (vy) is given by the

expression:

| veeveezasx | | | veeviszax |

a. Rewrite the equation to find the displacement in terms of initial velocity, ‘
final velocity, and acceleration. : ;
Holuilly A1)l e llg AN Al AV dax-13Y1 Slaw Aoleal) 4,15 42l

|||||||||||||||||||||||||||||
||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||

-------------
................................................................................................................

---------------------------------------------------------------------------------------------------------------------------------

b. Find the initial velocity of the object if v= 25 m/s, a= -2 m/s?, and Ax= 20m.
- V=25 m/s, a= -2 m/s?, Ax= 20m <S5 130 paad) 80021 & )l gl b

...............................................................................................................................................

Question 4 4 marks clded 4 Slpaad)
In a lab experiment to determine the sk 0 BMall slon) dypsee D25
relationship between the length of a 233l La o)l AaY 5yl paylly Jgud)
pendulum and its period of oscillation, TRl pically Jaswall
what is the independent variable and
the dependent variable?

Independent Variable: ... o e Al il

Dependent Varfable: .......cic.itisimaaitrt b s aeil e S ety sl picall
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Question 10 marks ——18) Pl (A) &LJI- oML,
Two drivers- um: (A) and driver (B)-27¢ %‘M Jo opuSlale (sAlad|
traveling In opposite directions on a long: ; g
straight road at different constant
velocities,

Their motions are represented by the
position-time graph as shown below.

ghpad
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Time (h) g0 '

a. :::rl?ons had driver A already been driving when driver B started tg |

mwa@uiLwldlhm.;A@ul,.z.l u,._ylu.‘g 3

l'lﬂ"

b. How long had driven 4
A (A) been drlving when he was 60 km aWayfm“ hls
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